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| GENERAL INSTRUCTIONS TO THE EXAMINEES :

‘.'}-‘\J'é 4 Nt © )
b 8.

(1) meaﬁawmmaﬁaﬁa:%él

Candidate must write first his / her Rpll No. on the question paper compulsorily.
) weft e FE AER € |

All the questions are compulsory,

(3) e WY T I € T -t 7 € o |

Write the answer to each question in the given answer-book only.
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(4) T gt o =t @ve 7, 37 aeft o Sow we gy & ford |
For questions having more than one part, the answers to those parts are to be written

together in continuity. _ _
(5) SR~ 3 Tl @ iAo e 3 et e < 3/ sre/ oo 81 e e s 36 e

If there is ény error / difference / contradiction in Hindi & English version of the question

paper, the question of Hindi version should be treated valid.
(6) ST %1 IR foRg= § d T 1 shilieh 7avd ford |

Write down the serial number of the question before attempting it.

(7) Sl 1 37 IR FrEEr R | '13

i

Weightage of marks for the question is as follows :

wuE-3(A) | 1 ﬁ‘tox) 21011 20 1 20
TUs- (B) 2w 15 4 2 8
@UE-g (C) 16 t0 19 4 3 12
@E-g (D) 200 21 2 4 g
TEAE) | 22 t0 23 2 . 8
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SECTION - A

freferiae agRrmed weat 3 Ier, Fet-gftn | fafe :
Write the answers of the following multiple choice questions in the answer book :
Y, ogamiou T -
Multiple Choice Questions — - 1x10=10
() frefafed @ =2 areg § Gie gr /e AR ?

(ii)

(31) ™ (¥) wdgH

() @i (q) =R

Which of the following plant is pollinated by snails ?

(A) Cotton ‘ (B) Arisaema

(C) Mustrard (D) Tobacco 1

Wﬁﬁﬁqmwaﬁ?aﬁ:%m%mmuﬁ@% 2

e OFFt } 1: 38y

(") Zn

Which of the following element is most important for the synthesis of auxin

hormone ?
(A) Fe (B) Mo
(C) Zn ' (D) B 1

(iii) aﬂaﬁmsazaﬂwgvﬁﬁém%—
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() ¥ (9) Th

(@) @ (®) =m

The respiratory quotient of carbohydrate is —

(A) Zero (B) One

(C) Two (D) Four 1
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(iv) Frefeiea # 8 9 & s % v 3 R aed it aeies S e Rear s & 2

(31) DNA (¥) RNA

(@) W (3) ritarede

The southern blotting technique is used to analyze which of the following molecules ?

(A) DNA (B) RNA R

(C) Protein (D) Carbohydrate 1
(v) Tmferied @ @ = & I % 3= & 90 37 st g 2 7

(31) Hreft (9) wiferanfeg

(&) Hidtza () waifam

Quinine is very effective for the treatment of which of the following disease ?

(A) Whooping cough (B) Cataradidn.

(C) Typhoid (D) .Malar.i.a. | 1
(vi) 1 8 fciefie ferfim @ - *

(31) Yt L4N@)

(@) et T (@ e

Water soluble vitamin is —

(A) Retinol (B) Thiamine
(C) Calciferol - (D) Tocoferol
(vii) AT ¥ hidy wyfeam g wfa gmi & — 1
() T T TR (%) SO o ot
(@) foiffe @ wgem (%) uﬁﬂ%aqqa‘aqﬁmz‘r&m
Hormones secreted by corpus luteum in humap are —
(A)) Est]rog‘en and Progesterone (B) Progesterone and Relaxip
(C elaxin and Estrogen (D) Progesterone and Oxytocin
1
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(i) YT 5 T e e & e 6 g g 7

(1) emeEEmE (%) s
(@) WIS (3)
v The acrosome of sperm is formed by which of the cell organelle ?
(A) Lysosome (B) Golgi body
(C) Mitochondria (D) Centrosome 1 :

(ix) ﬁwmﬁﬁ—tﬂaﬁm@ﬁmﬁaﬁaﬂtaﬁﬁtﬁﬁmmw@m%:
(") 1:3 (® 2:1

The ratio of number of d%%;‘?} plants ﬁgﬂ?ﬁ%%-gmemﬁou of mono-
S ‘. U’ T A &

hybrid cross is —

A) 1:1 (B) 3:1

(C) 1:3 D) 2:1 1
(x) Frefafa 3 & R @ I sframma T R ¢

(a) AT (@) R

(@) TergaT (z) Ufeoht

Which of the following disease is not bacterial ?

(A) Tuberculosis (B) Diarrhoea

(C) Mumps (D) Diphtheria 1
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Answer the question nufnber? to 8 in one line : 1x7=7
2. UasH foran St faftr =t St smeier Rrgia forem s fopam 2

Who proposed the induced fit theory of the mode of enzyme action ? K

3. M 91 91ed A REmve | gy & fore saert @ 2

Which plant hormone is responsible for the Richmond Lang effect ? | ' 1

4. PCR 19U W fofaw |

Write the full name of PCR. & 1
Ty ’

5. Fﬁh%a-mﬁtrmma;rmﬁfém

Write the name of the EBQM'ﬁlmt part of clove. e

&

6. F AR F Rh AT G R 2

In which animal was Rh system discovered ?
1

7. M w1 feow, fove v foow o w0 & mamr S 2 9

Which day is celebrated as World AIDS Day ?

g Wmmﬁmmm%@q,ﬁaﬁqﬁ&mmmm%| P

Name the blood corpuscle in which malaria parasite multiply
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97 T 9§ 11 F IR, Ie-Yferent A ferfa :
(feerar w21 < g <hifm)

Write the answers of question number 9 to 11 in answer book :

(Fill in the blanks)

""'9. o st g ot i H E |

Microspore forms the gametophyte after its germination.

10. UTEY % TS M A Tl h GTST % ®Y H G Bl HEAE |

The loss of water in the form of vapour from the aerial parts of plant is called

11.

Diphtheria disease in human is caused by bacteria.

Qus - 9
SECTION - B
12, Fest aredt  fg - e ot Emeee |

Explain double fertilization in angiosperm plants.

13, SroEay W fewf fafaa |

Write a note on hydroponics.

14, et 3 R o am st ffEe |

Write any four differences between the artery and Yein.

S§S-42-Bio.
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15. Prefifaa w feomf frfee
() UTATES hHt ATHEEAT
(i) 3FTR
Write a note on the following :
(i) Suicide of thyroid
(i) 3F Gland
g - g
SECTION - C

16. (i) ST YEEA 9 feoqoft ferRaw |

Write a note on photorespiration.

(i) C, T C, =05k # s IR W@ 3w foafaw |
Write any four major differences between C, axgd C, cycle.

31ET/OR R

() vIEa ToTieh R feoaeft ferfga |
Write a note on resplratory quotlent

(i) a:mﬁwqaama@ﬁmﬁmwm%f@n |

Write any four differences between the aerobic respiration and an-
respiration.

(ii) Bt-UE
Write a note on the following :
(i) Ex-plant
(ii) Bt-Cotton
1o/ OR

$S-42-Bio-

1+1=2 .

1+2;3

aerobic

1+2=3
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Freaferfiaa o oot frf
(i) Ti-wnfere
(i) TSR HTER
Write a note on the following :

(i) Ti-Plasmid

(ii) Flavr Savr
18, (i) wEtfEeEd ?
What is the bio gas ?
(ii) Wﬁﬁﬁ%ﬁﬁﬂ%ﬂﬁﬁﬁﬁmﬁﬁngf%
Explain the prc%essﬁ@%n%ﬁm gas.
T/ OR

(i) eyt i afefia A |

~ Define the bio-diesel.
(if) ﬁavmwnﬁ@ﬁﬁﬁml

1+2=3
te on the petro plant.

Write a no

_— Hif |
19. Wmﬁqéaﬁaﬁﬁgmﬁfﬁmaﬁmavh |
| . the human blood. i

found in
Describe the blood corpuscles

ine formation in human. Cere1 =3
Explain the different steps of ur
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20. (1)

(i)

(1)

(ii)

21. (i)

(ii)

(i)

10
GUs -
SECTIbN -D
T4 I9hTUT <hT ATHITRd & ST |
Draw a labelled diagram of stomatal apparatus.

1511 % o UE e B o1 TR i HhR R SR S gl g gueist |

Explain the process of opening and closing of stomata by the active potassium ion
transport theory. ' 2+2=4

FAYET/OR
TS <h1 T 1 Al 0 hifsr |
Describe the .structure of enzyme with diagrarn.‘
w-@sﬁﬁm%mmWﬁWﬁm@ |
Explain the mechanism of the enzyme action op the basis of lock and key theory. 2+ 2=4

TS % O B R A A | o,

Describe the structure of human testes. . ¢ '
. Py ! )
Draw a labelled diagram of male reproductive system of
uman.

FYET/OR

bbb bbbt N —
siferd |-

Which hormone deficiency causes diabeteg mellityg o Thy

| of this disease. oW light on the symptoms

(i)

S &,42-B] 0.

weh e gifteeT 1 Tmifha e T |

Draw a labelled diagram of an ‘Islets of Langerhapg: 4
: 2+27=

\_3"
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1 SECTION - E
‘ 220 (i) oA Fgm R ferfee |
| .
' ; Write a note on Down’s syndrome.
(i) Fotteeran Q2 e AR e 3@ T <61 Smfd i FHeee |

Write the symptoms of colour blindness and explain the inhcrifance of this disease.

YaT/OR
() e dem e i |
Define the test cross.
(i) ereper St TR T 1 hRUT T e L. gre B2
Write the cause and syr@@@gﬁ:& Il anaemia. 2+2=4

a72d1/OR
() Tuger 3 giar 3 7 i Fieret anesy |

Explain the Mendel’s law of dominance with example.

[ (i) Bvee 3 7o % 99§ B A wwod B e B 7 B AR faoih e
rftag i | | -
What traits (characters) did Mendel study in pea plant ? Tabulate any fc‘aur
contrasting traits (characters). ’ 2+2=4
23. (i) R <R TR iR |
Define the spermatogenesis.
(i) pFeT B T Srereenati <t TS |
Explain the different phases of spermatogenesis. 1+3=4

319aT/OR
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(i) W YERTY] T AHiRa o ST |

Draw a labelled diagram of human sperm.

(ii) nmaﬁﬁ%m%hﬁgﬁaﬁﬁﬁuﬁqwmmq

Fyar/OR

®‘:W@$ﬂaﬂ$ﬁﬁﬂﬁﬁﬁwml _»f“%

Draw a line diagram of oogenesis.

(i) uﬂaﬁammmﬁaﬁwgﬁmmf

o= W
wh

Explain the blastulation in human.

§S-42-Bio-

Explain the cortical reaction of fertilization in human.

2+2=4

2+2=4
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